April 2017

Fundamental IT Engineer Examination (Afternoon)

Answers and Marks(in blue)

Q1

Subquestion 1

2 A g
2 B e)
2 C b

Subquestion 2

2 D d)
2 E c)
2 F a)

Q2

Subquestion 1

2 A b
2 B b
2 C q

Subquestion 2
3 D aqa
3 E a)

5
4
2
S=1

QL and (not S)

from “opened” to “closing”
changing the data format of Qg and Qg so that Qg and Q. can be

fetched/updated by one hardware instruction



Q3

Subquestion

3 C q P2|P1

3 D e) P3|P2

Q4

Subquestion 1
2 A Db) Flightip
2 B a) COUNT(¥®)

Subquestion 2
3 C d) 100 - 100 * EconomySeatsReserved / EconomySeats
3 D d) R.FlightID = F.FlightID AND
R.SegmentNumber = F.SegmentNumber

2 E b) Flightbpate = :Spbate



Q5

Subquestion 1

2 A a)
2 B b
2 C b
2 D e

Subquestion 2
2 E c)
2 F b

Q6

Subquestion 1

4 A a)
4 B b)
4 C b

Subquestion 2

3 D b)
3 E f)
2 F a)

0_Qty
0_Qty - S_Qty

(0_City < s_city) or (O_City

(o_City > s_city) or (O_City

™

I-13
N - S[N]

10
17

S_City and o_Item < S_Item)
S_City and o_Item > S_Item)



Q7

Subquestion 1

3 A a) Tline[i] = '
B b) s[j++] = Tine[i++]
3 C <) wordCount ==
3 D a) highestFreq
3 E <) wordcCount

Subquestion 2
25 F b) 2
25 G a9

Q8
Subquestion 1
4 A b) value % 1imit

4 B c) getvalue() > 0

Subquestion 2

3 C a) (getvalue() + 1) == getLimit()
3 D a) Tleftside != null

3 E d) getvalue() ==

3 F d)  super.tostring()



